to be as hard to come off
as handcuffs, right?

P Yes. But If LLCC

comes off too easily,
. a problem will arise. J ' (i
- i

yow )

111 ) AOnaRE
U) S e Ta.caN

7_

hat) do you
wthink aboutfOUTs

LLCC can't judge
the compatibility, huh?

a difficult matter.
So, | came up with
like this mechanism.
First, | made

this claw with iron

) A > N
change MI‘}"@IR@%W)

That's right! LLCC
mustn't come off

=" conpatibjll 0\  until it has finished
collecting data.

Hey Tsukuru-chan!
Please tell me how to
remove my Love Level
Counter Cuffs (LLCC).

The point is what LLCC is for.
LLCC s a device for judging
compatibility of two persons are
wearing it based on the blood
pressure and heart rate of them.

And | made a hole
here so that a magnet
could be inserted.

If | take the magnet

out of the hole,

the claw will open?

N~ TIhen the closedclaws ™
will adhere to the magnet
© 2020 Shoul a High School IP Club,”Kiyomune Nakagawa
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Hiqh School Student You should have -
taught me how to
Intel lectual Property comme it off easily.
IP) Manager
. . . I've finally
Chinako s/ IP Life ‘ ) removed LLCC!
Art 13 : Role sharing of ng:tj:et;sﬂ Z(a)iléllt =
the Acts (and comics unnecessary words that —
characters) is "Give me the key". © ©
important, " Advanced ' sorry to attach
Produced by Shouhama High LLCC to your both 2
Schoal (1P 'Club (applying) hands by mistake. =
©

s

' Hey, such way
doesn't make her
enough remorse,

\YPlease don’ t |
—7 N
am. use the glueBrr-..
because | remorse.

You should attach
LLCC to your hands>

Thank you very much,
Ms. Maizono. I'll harden
LLCC with the glue.

and think about

If | take the magnet our mistake.

out of the hole,
| canremove LLC

~~ Japan has "Utility Model
Act" in addition to Patent
Act as an act for protecting
technology.

What does
device mean?

Japan's Utility Model Act I'd like to patent That aside, this

is protecting "Devices". also this idea. mechanism is simple
But it would be too Abut interesting.
simple to patent,
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M

There are only
three requirements
for device, while there
are four requirements
for invention!?

l [}

— N
Gl |
\\\) That is to say
an invention and

a device are almos
the same, right?

Device means "the creation

of technical ideas utilizing )
the laws of nature" (Utility Mode
> Act Article 2, Paragraph 1).

the difference between them?
The hint is the number of
those requirements.

the three requirements
of an invention
we've talked about.

7 0 :@.@J

It doesn't make

sense to establish
two acts that protect ® @ )
the same subject.

— = @
=]
()
¥
K So, the fourth require-
Please understand that \ ment of an invention is

n
Why does an invention
require advanced while
doesn't a device
require advanced?

advanced is a requirement advanced" technology

for a role sharing of
the Patent Act and
the Utility Model Act.

Umm:---. What °
is shown in this
illustration is °
1 Advanced correct somewhat,
-| technologies
know e can be 3
) protected =
aning under  ° - °
®? = both acts. T 1 i
il /-\ 1 | gotit. I'll draw

1
Low-level ' an illustration.
technologies :
can be :

: protected ] But a device doesn't
So, an important~_ U g require that it's a low-
role of the Utility the Utili level technology.
Model Act is to ~Advanced technologie In other words,
actively protect can be protected under a device should be

low-level techno- /A H\  both the Patent Act and able to include high-
» logies. /R e Utility Model Act. level technologies.
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— The term ot

AW patent rigifrs

=20
@

Or better yet, wouldn't it be
okay to protect technology

Therefore, for example,
a device is protected
for a shorter period

than an invention.

technologies are less likely
to be outstripped by new
technologies, but low-level
technologies are easily
outstripped by them.

~Well, in Japan, it is said that
the examiner of JPO doesn't
need to judge whether or not
the technology is advanced
, when examining a patent.

A
Then, | think the system
for judging compatibility
in LLCC is advanced and
will be protected by

the Patent Act.

In contrast, | think
the mechanism of the
claw in LLCC is a low-
level technology and
will be protected by

,the Utility Model Act,

Tl : — Ah, there are many
p /g9 In this manga, ' differences in the
Y she's "offense" Patent Act and Utility

/
&*/ and I'm "defense"! Model Act in addition to_=
S :
advanced, and each a

[ ’ g
W / has a different role.
For example, -**

C'mon! Don't say ¥
strange words to
Ms. Maizono.

A role sharing is
an important issue
not only in act, but
also in a setting of
comics' characters.
For example, ---

Yes. As you can see,y
»_her role is "offense”,




